The “Amazing Lew” Number Trick

Set the sealed envelope on a nearby table before starting the trick.

Ask for a volunteer and a friend to check his or her arithmetic. Calculator may be helpful.

1. Think of a number between 6 and 15.

2. Subtract 5 from your number.

3. Multiply the result by 3.

4. Square this number.

5. Add the digits of the result.

6. Keep adding the digits of the result until you get at 1-digit number.
7. If this 1-digit number is less than 5, add 5 to it. If it’s greater than or equal to 5, subtract 4 from it.

8. Multiply this number by 2.

9. Subtract 6 from the result.

The arithmetic part is over, so the friend who checks is no longer needed.


10. Find the letter of the alphabet that corresponds to this new number. 
(A = 1, B = 2, etc.)

11. Think of a state that begins with that letter.

12. Think of a mammal that begins with the second letter of the state’s name.
13. Think of the mammal’s color.

14. Think of a fruit that begins with the first letter of the mammal’s color.

15. Call attention to the sealed envelope on the table.

16. Ask the volunteer what state, mammal, and fruit s/he thought of.

17. Have the volunteer open the envelope and display its contents.
1. Think of a number between 6 and 15.

2. Subtract 5 from your number.

3. Multiply the result by 3.

4. Square this number.

5. Add the digits of the result.

6. Keep adding the digits of the result until you get at 1-digit number.

7. If this 1-digit number is less than 5, add 5 to it. If it’s greater than or equal to 5, subtract 4 from it.

8. Multiply this number by 2.

9. Subtract 6 from the result.


The trick is based on the following facts: (number = positive integer)

1. If a number is divisible by 9, then so is the sum of its digits.

2. Repeatedly adding the digits of a number will eventually result in a 1-digit number (which in this trick must be 9).
Justification of 1:

1. We will illustrate with a three-digit number. First, pick a two-digit number and multiply it by 9. The result will be divisible by 9.

2. For example, take 72. 9 ( 72 = 648.

3. 648 = 6 ( 100 + 4 ( 10 + 8 = 6(99 + 1) + 4(9 + 1) + 8

4. 648 = 6 ( 99 + 6 + 4 ( 9 + 4 + 8

5. 648 = (6 ( 9 ( 11 + 4 ( 9) + 6 + 4 + 8

6. 648 = a multiple of 9 + (6 + 4 + 8)

7. number = a multiple of 9 + (sum of the number’s digits)

Justification of 2:

Adding the digits makes the number considerably smaller. Before long, you’ll get a 1-digit number.
